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. Paper Code : BCAE-601A
ADVANCED NETWORKING AND

COUHU’NICATION - |

. nmeAuotted 3Hours [ FullMarks 70

The ﬁgunes in the margm mdzcate full marks ‘
Candtdates are nequtred to give their answers in thezr own
| words asfar aspmctwable e

‘ GROUP A -
( I‘nltiph Choice ‘l‘ype Que:tiou )

1Dx1“10

i) Which - error = detection me_thod mvolves B

 polynomials ? - , |
a LRC b) VRC o
'c). CRC 5.' d) None of these

i) For six subnets in class B network the subnet»

,}’maskwxllbe S . R
&) 255.255.192.0  b) ._255.-255-.240.9- -
o) 255.2515.224.-0 ) none of these.
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~-]_'_,_,Bapow,e,,

,_,;-.heaaer, the HLEN ﬁeld is to be mdltiphed by

7

d} none of thesé

g uses

three vcﬁtage levels

) two voltage leve} ¥

by OSPF
GRo : d) None ofthesc_.».‘
Mlcrowaves are used for “o

‘ _a)‘ ; ~Umcast commumcatxon
i ,‘Q)___“Mumcasteommunicanon’ |
o mwen
o :‘:‘L”‘jfnone of these
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e csmcn/mmsw-s/msowzms-m
;lx) A F‘xrewan is ‘
a) aform of virus \
--b)\}a screen saverthh ﬁrmgwall , o
c) used to protect computers fro‘m oﬂtatde attack | R
dy ,'none of these. B ,' L
B x) -’Phe data umt at the transport iayer m the TCP/ IP..
L protoeol stack tsca}leda L RSN
o a)- segnient T b) datagram -
| c)‘-_ framwe‘ A none of these
 emour-B ©
(ShartAnmr‘i‘ypeQuesﬁom) S
- Answer any three of the fo}lowmg . 8x 5= 15

2. Discuss the Bszs and HDB3 schemes thh suttablc
o exam;)les SR :

3. a) What do you mean by bxt stufﬁng and character. S
. stuffing? - 3
' 'b) A modem hasa baud rate of40 s:gnals/seconds .
Y it is transmxtted at the rate of 4800 bps, what is
ce thecodmgrate? R T _2;
4. a) Differentiate between encodmg and modulat:on S
- b) . Draw signal representation ; using’ 'NRZ-1. and 1; Ny
. Manchester encoding schemes. for a 'bit pattern-i S
10111010001, - 3
. 5. Describe the format of an ATM cell. o
. 6.. Why is the performancc of slottcd ALOHA better than‘ o
© purcALOHA? = S
© 7. Briefly éxplain the dlfferent pohcws that éan prevéntﬁ.“ T
' congestion. LR o | :
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- GROUP-C
( Long Answer Type Questions )

‘Answer any. three of the following. 3 x 15 = 45 -

' http:_/[www.makaut.com

B 8 a) ,An ISPi is granted a block of addresses startmg Wlth -

. 120.60.4.0/22. The ISP needs to distribute these

blocks to 100 orgamsatxons vnth each orgamsat:on
recemng Just etght addresses. ' :

Design the sub-blocks and give the slash notatxon ’

. for each sub-block. Find out how many addresses
~are still available after these allocations. 11

g b Whatlsatransparentbndge? B
. 9. ~Write short notes on any three of the followmg axs

- a) RIP R
" b) Three-way Handshake protocol
) _if;.ercutt sthchmg .
. d) 1SDN.

10 a) Why do we heed a DNS system when we can'
: ‘ ,du'ectlyuseanIPaddress? R 5.1 :
b) . Differentiate ‘between 'Symmetnc . Key

,*Cryptography and 'Asymmemc Key Cryptography

5 |

'.‘C)': ” Explam the R&A algorxthm ' . N = };l o 5 T
" 11. a) Differentiate between TCP and UDP.’ _: e

R b six channels, each with a 90 kHz bandwxdth areto

- ‘be multiplexed together. What is the minimum

~* bandwidth of the link if there is a need for a guard
band of 5 kHz between the channels to prevent N
L ‘interference ? - o : REENE .
g -_'_;,sttmgulsh between Vn'tual Clrcult and Datagram o
S Subnet. 5
12, Explam 0SI mcdel Compare OSI model thh TCP/IP- :
< ‘_protocol stack o | RN 8+‘7<
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